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Question 1:     

 Let 1 2 2
1 0 2

A
−⎡ ⎤

= ⎢ ⎥−⎣ ⎦
 ,

3 1 2
1 0 5
3 3 5

B
−⎡ ⎤

⎢ ⎥= ⎢ ⎥
⎢ ⎥− −⎣ ⎦

, and 
3 6 3
7 14 11

1 1 1
C

− −⎡ ⎤
⎢ ⎥= − −⎢ ⎥
⎢ ⎥−⎣ ⎦

. Perform each 

possible operation. If an operation is not possible, so state: 
a. 2A−  
b. BA +  
c. CA  
d. 2 2−B C  

Answer:    (a):  
2 4 4

2
2 0 4

A
− −⎡ ⎤

− = ⎢ ⎥−⎣ ⎦
 

(b):  A B+ is not possible because the dimension of A 2 3×  ≠ dimension of B  3 3× . 
(c):  23 33C A× ×  is not possible (It is not conformable for multiplication) because the number of column of 
C is not equal to the number of row of A. 

 (d):   2

8 3 3
2 4 12 1

7 10 14
B C

−⎡ ⎤
⎢ ⎥− = −⎢ ⎥
⎢ ⎥−⎣ ⎦

 

Question 2:  If 1     2   3
 6   1     2  

A
− −⎡ ⎤

= ⎢ ⎥−⎣ ⎦
  , 0    1       4 

2     6     3 
B

−⎡ ⎤
= ⎢ ⎥− −⎣ ⎦

 , then find the matrix X  for which  

4 2X B X A+ = −  . 

Answer:   

2 2      1      
3 3
10 4 1   
3 3 3

X

⎡ ⎤−⎢ ⎥
= ⎢ ⎥
⎢ ⎥− − −
⎢ ⎥⎣ ⎦

 

Question 3: If ,   and A B C  are n n×  matrices and nI is the identity matrix of order n , then 
which of the following statements is TRUE? 
A)   2 2( )( )n n nA I A I A I+ − = −               (True) because 2 2 2 2( )( )n n n nA I A I A A A I A I+ − = − + − = −  
B)   2 2 2( ) 2A B A AB B− = − +     (False) 
C)   2A C ACA=                            (False) 
D)   2 2( )n nA I A I+ = +            (False)  
E)   2 2 3 3( )( )A B A AB B A B+ − + = +   (False) 

Question 4:  If
1 2 0

 3 0 1
1 1 4

A
−⎡ ⎤

⎢ ⎥= −⎢ ⎥
⎢ ⎥⎣ ⎦

, then the element in the third row and second column 

of the matrix  3 3A A+   is: 
 

A) 2 
 

B) -2 
 

C) -1 
 

D) 7 
 

E) 5 
 

 


